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QUESTION 1

Your Steelhead appliance deployment includes users accessing the Internet from branch offices with the traffic being
back-hauled to the data center before going out to the Internet. However, HTTP latency optimization does not appear to
be very effective, and in certain cases, is slower than without optimization. What settings might help with this Internet-
bound traffic? 

A. Riverbed recommends you turn off URL Learning and Parse-and-Prefetch and only enable OPT 

B. Riverbed recommends you enable URL Learning and Parse-and-Prefetch and turn off OPT 

C. Riverbed recommends you turn off URL Learning and only enable Parse-and-Prefetch and OPT 

D. Riverbed recommends you turn off URL Learning, Parse-and-Prefetch, and OPT 

E. Riverbed recommends you enable URL Learning, Parse-and-Prefetch, and OPT 

Correct Answer: A 

 

QUESTION 2

In a new in-path deployment, connections are listed as pass-through on the branch office Steelhead appliance. Which of
the following is the likely cause of the problem? 1) Pass-through rule preventing optimization 2) Server-side Steelhead
appliance is down 3) Satellite proxy not copying auto-discovery probes 4) Asymmetric routing is detected for the
client/server flow 5) Duplex mismatch on WAN or LAN interface 

A. 3, 2 

B. 2, 4 

C. 1, 2, 5 

D. 1, 2, 3, 4 

E. 1, 2, 3, 4, 5 

Correct Answer: D 

 

QUESTION 3

When deploying failover Interceptors, all in-path interfaces must: 

A. be deployed on different physical links. 

B. be deployed on 802.1Q trunks. 

C. be deployed on all the same physical links. 

D. be deployed separately. 

Correct Answer: C 
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QUESTION 4

You have a firewall between your clients and servers with a SteelHead deployed on the trunk link connected between
them. The firewall must see all traffic on the original client and server IP address and VLAN IDs. What is required to
support this? 

A. Full transparency and simplified routing all 

B. Correct addressing and simplified routing all 

C. Full transparency with probe-caching enabled 

D. Full transparency and simplified routing dest-source 

E. Correct addressing and simplified routing dest-source 

Correct Answer: A 

 

QUESTION 5

In an implementation using a 4-port card, which interface could be used as the Connection Forwarding neighbor?
(Select 2) 

A. Primary 

B. AUX 

C. inpath0_0 

D. inpath0_1 

Correct Answer: CD 
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